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Métodos especiais
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Coordenadas esféricas
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Coordenadas cilíndricas
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<latexit sha1_base64="WGxgvgFBgVe99YHIlqFwCSCLvRg="></latexit>

~rT =
@T

@s
ŝ+
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Equação de Laplace
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Equação de Laplace

Propriedades
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Equação de Laplace

Propriedades
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2. Condição de contorno: V na superfície
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Equação de Laplace

Propriedades
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2. Condição de contorno: V na superfície

3. Condição de contorno para condutores: 

Q em cada condutor
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z

R

q
<latexit sha1_base64="pn9Tt5NM8ZO44LPdMqZBJCjOpnc="></latexit>Z

A
V (~r ) dA = 4⇡R2V (0)1.

<latexit sha1_base64="vYaed56ZnYU8HmWNhUc2DViSlZY="></latexit>

r2V = 0



Equação de Laplace
z

R

q
<latexit sha1_base64="pn9Tt5NM8ZO44LPdMqZBJCjOpnc="></latexit>Z

A
V (~r ) dA = 4⇡R2V (0)1.

<latexit sha1_base64="fbN23uQwQspCt5mmsU5Db/BuaaI="></latexit>

V (P ) =
1

4⇡✏0

q

<latexit sha1_base64="vYaed56ZnYU8HmWNhUc2DViSlZY="></latexit>

r2V = 0



Equação de Laplace
<latexit sha1_base64="vYaed56ZnYU8HmWNhUc2DViSlZY="></latexit>

r2V = 0 z

R

q
<latexit sha1_base64="pn9Tt5NM8ZO44LPdMqZBJCjOpnc="></latexit>Z

A
V (~r ) dA = 4⇡R2V (0)1.

<latexit sha1_base64="fbN23uQwQspCt5mmsU5Db/BuaaI="></latexit>

V (P ) =
1

4⇡✏0

q

<latexit sha1_base64="Ar0nXJPHZbywOJ4Stc5ehubqabc="></latexit>

=
p

z2 +R2 � 2Rz cos(✓)



Equação de Laplace
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Equação de Laplace
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